D 3vV13cm @ V39cm @2 v39cm
@ 2+13cm ® 2+93cm

OM = _CZEXZ\/EZ V13(cm)

2
AM=BM = /(2vI3) - (VI3) = V39(cm)
AB = 2BM = 2V39(cm)
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OT = 4cm °]2L P
o] Aol=avb olth. a
(2, b= A9 AHd4)
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OP=2x0Q =38
/T = 90°
~PT=V82-42=4+3




2 1T Zo] ¥ 0 &= AABC 9] YA Yol DE &= ¥ O of Hgt
AB = 11cm , BC = 15cm , CA = 10cm € @}, ADEC ©] =99
=2
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Gt

@ 1lecm @ 12cm ® 13cm (@)14cm ® 15cm

S8 ~
(ACDE 9] £¢)= CG + CH = 2CG
CG = x 2 5tH

BF=BG=15-x, AF=AH=10-x
AB=15-x+10-x=11 .. x=7

. (ACDE 9] E&)=2CCG =2x7=14
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AP=AS=2

DS=DA-AS=4

(ACDE ©¢] &)= CD + DE + EC
=CD+ (DR+RE)+®

=CD + DR + (@ + EC)

=CD + DR+ (® + EC)
CD+DR+®

®

® EC @ RE ® EQ @ CQ ®)16cm

®4+4+4=12(cm)
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(@)4 V13cm @ 4+1dem ® 8+3cm
@ 8+5em ® 943cm

AM = BM = 12cm, AAMO ©J|4] AO = 13
H}2]20] 13 o]E2 CM = 8cm , ACMB ©J|A]
BC = 4+v13cm ©°]t}.
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AB = CD,ON = 4cm °|22
AONCO|A OC = V122 + 42 = 4/10(cm)
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o)1 OB o] 9ol 28] F4-8 A4 D
o, CD 9] Zdo]&?

@]

@ (2- V2)em @ (25 -4)cm ® 3cm
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AB =8cm ©]EZ AD = 4cm
DO = V82 - 42 = 43(cm)
~CD=(8-4V3)cm
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HizHilo] & Wk ARzt s Tk TAE d et AB +
CD’ =BC + DA’

. AB 4+42=10%+AD"

~AB —AD =100-16 = 84
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AOPA & A ZM7g o] OP = 12 0]|BE2 PA = V122 - 02 =
V144 - 81 = V63 = 37 o]t}
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o2 IO A D, E, FE= Y90 9
HAo|1 AE = 16cm € 1, AABC <]
=g o] ZolE ot}
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0 9] HAlo|22 BE = BD °|t}.

AE,AF £ 9 0 9] HAo]E=Z AE = AF ©|1 BE,B
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CD,CF & 9 0 9] §Alo]2 2 CD = CF °|t}. w}2t4 AABC
o] E39] ZolE 2 x 16 = 32(cm) ©|tt.




18. t©h& I1¥oA oABCD - g ¥ o] Zo]7} em €
7} BC & &0 2 5h= Yo & uf, AE o] Zo]&=?

re

A D
Gtcm
E/ P /
0 /
B~ ~-6ecm-"" C
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©) gcm @ gcm @ 13cm
27 15
@ S om ® Som
EP=EB=1x
AE=6-x
AAED 9j|A

DE’ = AE + DA’
(x+6)% = (6-x)* +6°

24x = 36
3

X = -cm
2

wehd AB =6 - - = . (cm)




19.

o2 2894 9 0
ABC 9] Wy ol
Ao}, o] of, A4

oy e

9

9

@64—Zn @ 72 -4n 3)84 — 9
9

@ 90—1n ® 100 - 257

~&B

HO A EE x & otH BF=BE=x
AD=AF =40°]|E2 AB=4+x,
CE=CD=21°E2BC=21+x

(44 x)2 + (x +21)% = 252
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wehbd, AB=17, BC =24
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